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6x —x° =—[x2 —6x} v
=—|x*-6x+9-9| v
i ]
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f'(x)=1 v g(x)=Insecx
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26=20-2C C==3 Vv
when x=1 3+16+26=A(1+3+4)+(B+C)(-1) v
45=84-B-C
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Alternatief
3x° +16x+26 4 Bx+C

= +
(x=2)(x*+3x+4) x-2 x*+3x+4
3x° +16x+26 = A(x* +3x+4)+ (Bx+C)(x-2) Vv

v

when x =2 12+32+26=A4(4+6+4) 70=144 LA=5 v
Expanding 3x* +16x+26=Ax" +3Ax+4A4+Bx* +Cx—2Bx-2C v
Equating x” A+B=3 =5+B=3 . B=-2 YV
Equating x 34+C-2B =16 =305)+C-2(-2)=16 C=-3 v
3x° +16x +26 —2x-3
gy de= [ 2ies [ v
(x=2)(x"+3x+4) x-2 x’ +3x+4
_J- _J' 2x+3
x=2 x +3x+4
=5In(x-2)-In(x* +3x+4H+C v Vv (6)
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1
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Kopiereg voorbehou Blaai om asseblief



NASIENRIGLYN -7-
WISKUNDE N6
4.2 2
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dx-  dx
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r=-3 r=2
y,=Ade +Be” v
For y, y=Cxe™.......... (1) v | Ifused y=2Cxe™ follow up to get C = —%
Z—y =-3Cxe ™ +Ce™"

X

2
Zr L 3.-3Cxe —3Ce T -3Ce™

X
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... d’y dy .
Substitutin ,—and y in (1
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—5Ce™ =2e™" S C= —% v
2 —3x
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VRAAG 5
5.1 5.1.1
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Vx:”j(yl_yz)dx v

{(1+sinx)2—sin2x}dx v v Vv

Il
3
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N
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{(1 + 2sin x + sin’ x) —sin? x} dx v

z|{1+2sinx}dx v

=r[x-2cosx], v v
=7z[7r—2cos7z—(0—2c050)] v  =xlz-2(-D+2]=x[r+4]
=22,4360units’ v/ (5)

b
V_y=jrdV v
™
ZJ%ZEX()/] —yz)dx
b
=njx(yf—y§>dx v

=7 x{1+smx —sinzx}dx v

O e N

7z]£x{(1+2sinx+sin2 x)—sin2 x} dx
0

= j {1 +2sin x} dx ~ using integration by parts: f(x)=x g'(x)=1+2sinx
0

f'(x)zl g(x)=x—-2cosx
= ﬂ:x(x—Zcosx)—Jl.(x—2cosx)dX}: v v

_ , ,,
=7 (x2—2xcosx)—[x7—2sinxﬂ v
L 0

=7 (7;2—ZﬂCOSﬂ)—(%z—%inﬂj—(O)} v =7Z'|:%2+27Z':|

- 4
=35,2423units”

4 its*
o —y _ 35,2423units _157lunits o

V. 22,4360units’ ©6)

X
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5.2.2 b
A= [y - y,)dx
= j-e" —e'dx v
1
= [ex +e” ]? v
= |:€3 +e’ - (el + e_l)} v
=17,0492units>
(2)
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5.2.3 ’
4, =[rad

a

x(y, = y,)dx v

—— ) D C—

x(e" —e")dx v \/"ing integration by parts: f(x)=x  g'(x)=e"—¢™
f)=1 gl)=e+e”
+e (e +e )dx} v v

x(e'
e +e’ e —e )}j:[x(ex+e”‘)—e’“+e’x]3 v

1

3¢ +3e” -’ +e {el+e_1—el+e_1}]:[263+4e_3—26_1] v

9,6345 v v
A
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A)C
v
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532 5 5
A=[4-(x=3)dx v v
1
5
:I4 x* +6x—9dx
1
5
I 5-x*+6xdx ¥
1
5
{ 5x——+3x} v
1
1
{ 5(5)——+3(5) { 5—§+3H v
=10, 667units’ v
Alternatief
5
A=[4-(x=3Ydx v v
1
- 5
-3y
3
L 1
= 20—§—{4—_—8H v
i 3
=10,667 d 3)
533

~104,533units’ 7 @)
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54 5.4.1
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Alternatief (met x-as op die watervlak)

S 4

(47
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5.4.2 3.0 3
slope of the right edge m=——== v
P 8 8 4-2 2
Y=y = m(x—xl) using(2;0)
3
=—(x-2
y=2(x-2)

3
=—x-3
a

xz%(y+3) v lengthofstrip:2x:§(y+3)

b
first moment of area = I rdA

a

-J6s —y)é(y”)dy vV

3
=§I2y—y2+15dy v
0

3
4 5, )’ 4| , 3
=—|y ——+I15 v =—|3-=—+153-{0 v
3[3’ 3+yl 3[ 3 {0
= 60units’ v
v
= 21 .
y=—3=3,55un1ts v
60
Alternatief:
-2+5 3
slope of the right edge m= ==
P 8 8 4-2 2

y—y, =m(x—x) using(2;-5)

y+5=%(x—2)
y+5=%x—3
x=§(y+8) v

length of strip =2x =

+®) @
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b

first moment of area = J.rdA

a

) 4

42
=§jy2+8ydy v
-5

-2

4_y3 2

=—|2——+4
3|3 yL v
4_(—2)3 2 (_5)3 2
3| 3 (2) { 3 (=) Y

= —60units’ v

y=28 0~ 3 55units
~60

543 y=22 = —3,55units v (1)

—60

[40]
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VRAAG 6
6.1 2
x=2
4
b 2
S:j 1+[@jdx v
y dy
ax 2y 1.,
d 4 2

|~ = N~

%\/y2+4+51n{y+\/y2+4}} v v

0

_g 42+4+2ln{4+\/42+4}—(0+2ln{0+\/0+74})} v
:2\/%+21n{4+\/%}—21n2}

,916units (6)

Il
W
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6.2 y=2sinx
b 2
dy
A =2rx 1+ = | dx
=21 (2]
dy
— =2cosx
dx v

1+(dyj =1+4cos’x v VvV
dx

“ v
AX=2ﬁ_[2sinx\/1+4coszxdx u=2cosx ﬂ=—2sinx v

du
-2sinx

dx =

follow up if used u = cos x

= 27zj‘2sinx\/1+4cos2 X

2

- v x=Z u=2c0sZ=0
-2sinx 2 2

x=7mx u=2cosx=-2

-2
=—27TI\/1+MZdM v v
0

=2 % 1+u2+lln u+ 1+u2}

:—27r:_22 - 2+%ln{ 2+\/1+7} (m-mﬂ v
=2z —\/_+%ln{ \/E}}

=18, 585units’ v (6)
[12]
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